
Exercise 1

November 18, 2016

1.a) Find the general solution to :

y′(x) =
y(x)− 1

x+ 2
1.b) If y(1)=7 �nd y(-1).

2.a) Find the general solution to :

y(x)y′(x) = ex+y2

2.b) If y(0)=2 �nd y(1).

3) Find the general solution to:

y′(x)tan(x) + y(x) = 2sin(x) where:0 < x <
π

2

4) Find the solution to Sturm Liouville problem :
y′′(x) + λy(x) = 0, 0 ≤ x ≤ L

y′(0) = y′(L) = 0

5) Find the solution to Sturm Liouville problem :

y′′(x) + λy(x) = 0, −L ≤ x ≤ L

y(−L) = y(L)

y′(−L) = y′(L)
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